EARAROBEEIERT — 2 N— IBISH —F

2015597128 (£) 6EIKIR4H

m 2% YR 2% ‘ [XM&] # ‘ (seEmm@l - | & (B) 13000 R&
[AE4£] 1% :360,000” ~ 2#%&:72,000 M  33%&:36,000H  437&:26,000MH .~ 57 :10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N ARA8E 125, -2~ . — A% (KiR)
1 o | Fx)-—H3I27 2 1(2_5)8 oz 401 ’ (ﬁz) HRHARER
L:TVHYA XTI R B:TAIVXTLR R ek
A = i 2 | BEREE 1:25.9 1-1-1-1 | 40.4| — 2 452 | FREEFD (KR)
2 6| 7L—RFNZ 54.0 (1/2) (46) |EERZ
L:T772YIT7 B:T7zT7V-—FhY~ LA
N N S . 4 _ 1EERE (OKR)
3l7] 7| T FzE—L o2 o 1.(266>.9 6-5-4-3 | 40.4 4 <4+625) i
L:RY=LZXTLy N B:d—-LFriUr =E X
= e o s 2 | WEEME— 1:27.0 3-3-3-4 |40.9| — 5 434 | REERD (KOR)
41111 77E=X 54.0 (1/2) (3) | REE® !
w427 T B:IYIOT7A LaGkies]
S w7 B2 | WAERER 1:27.4 5-6-6-6 |40.3| — 6 425 | BIfE— (KiR)
EE 3| ¥/ hv7 -0 @ 1/2) () | EAAET
LHNARNCTA NE BT —LET [CE NN
N 4 2 | HLER 1:27.4 7-7-5-5 | 40.1| — 1 503 | EEEHEE (KiR)
6!5/5(vFAYY 54.0 ) (1) | ERALE
R:TA—T4FAF—XY¥> B:vyya—L ®I -
Y B2 | AMRE 1:29.5 4-4-7-7 | 42.7| — 7 447 | HRIEEE (KR)
] 41V /NnyE 252.0 (514 (o) | FRRREE ()
g/ XLLy b BihHd /UK =% e
@ 1 — S —EBIEf
13=7r= 6,2,1,4,3,7,5
A== 6,2,1,4,7,3,5
Jol=5r= 6,2,1,7,5,3,4
43—F— 6,2,7,1,5,3,4
[ N3
BB 2 640M 714K 2-6 680 B = 2-6 1,210 3EHE 2-6-7 2,850
8 B 2 200M 2-7 1,750H B H 2-6 2,710 K31 2-6-7 17,060M
6 180M 6-7 560

ABICOVWTRDTEEERROODE. TR LIV,




